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IT320 Final answers:

a).
#4
Answer: 1024 cylinders.


Explanation:  





Cap=C*H*S*512





C=Cap/(H*S*512)





C=8G/(256*64*512)





C=(2^3*K*K*K)/(2^8*2^6*2^9)





C=(2^3*K*K*K)/(2^3*K*K)





C=K





K=1024
b).
#8
Answer:



Byte


Parity bit



1111 1111

1




0110 1111

1




0111 1111

0




0111 1101

1


Explanation:
If Odd parity=0





If Even parity=1
c).
#3
Answer:




“Post” stands for “Power on Self Test”. This is a first program executed during “boot” process. It’s stored on CMOS chip as an essential part of ROM BIOS. POST checks the presence of most essential hardware; it’s configuration, setup information and assigns system resources for future executions. POST first checks BIOS program that operates it, than battery, system clock, CPU, HDD, FDD, RAM, Monitor, keyboard, mouse and all other hardware devices. It compares their setup information with stored configuration in CMOS chip. That’s when Input/Output addresses, Direct Memory Access channels, IRQ numbers are identified with appropriate devices. At this time all jumper (DIP) settings are checked and all information (such as Memories capacities, locations, properties of CPU, terminals, buses etc.) collected for the next step – initializing operating system. POST’s function is similar to Inventory manager, who keeps track of available resources and their order, as well as powers them up for upcoming tasks.
d).
#5
Answer:




Vertical Architecture of PC:

· Hardware

· Operation system

· Application system

Vertical Architecture of PC includes 3 major components. Hardware contains all mechanical (material) components and parts. System of instructions that makes all hardware parts function together and interact according to given command (code) called Operating system. It directs every physical device of PC system how exactly execute assigned task at the given moment, which Operating system underlines. Incoming and outcoming information represented through Application System. It includes certain basic units of expression, commonly used and recognized in modern culture, such as Characters, Numbers, Sound, Image, and Vibration etc. Some human sagacity’s, like Smell, Taste and Touch (feel) current PC technology is not able to accommodate through typical terms at existing point of its development. Each one of these 3 components of Vertical PC Architecture is indispensable and inimitable for appropriate PC structure.

e).
#6
Answer:



Horizontal Architecture of PC:

· CPU; DRAM; HDD

· DOS; Unix/Linux; Win9x; OS2; WinNT 4.0

· Characters; numbers; image; sound
Horizontal PC Architecture goes into details of Vertical PC Architecture components. It describes and depicts development and progress achieved in considered subjects.  For example, every part of hardware equipment (HDD, FDD, DRAM, CPU, ROM etc) tremendously developed in speed, memory capacity, reliability and overall performance. New Operating Systems normally use best of predecessor’s functionality (trying to be backward compatible if possible) and evolve to match progress of Hardware development.  Application Systems become more sophisticated with a progress of science and culture. For example, characters could include any human alphabet element plus special symbols and scientific expressions. Image and sound could be modified above and beyond limitations of human sensitivity. Precision and speed of PC numeric processing enabled people to speed up business, science and progress of our civilization. 
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